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1s, 10s, 100s, 1,000s

4a. Josh thinks of a number.

| add 1,000 to it, subtract 50,
add 5, then subtract 400. My
answer is 6,497.

4b. Sinead thinks of a number.

| add 3,000 to it, subtract 70,
add 4, then subtract 200. My
answer is 5,099.

e

Josh Sinead
What number did he start with? What number did she start with?
5a. Complete the sequence. 5b. Complete the sequence.
1,040 1,440 2,640| | 16,893| 16,863 6,773

What is the sequence increasing by each
time?
Explain how you know.

W

What is the sequence decreasing by each
time?
Explain how you know.

e

éa. Cian says,

When | subtract 80
from 3,150, | get 3,230.

Cian

Correct Cian's answer and explain his
mistake.

W

éb. Kelly says,

When | add 600 to
2,799, 1 get 8,799.

Kelly

Correct Kelly's answer and explain her
mistake.

W
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4a. 5,942 4b. 2,365

5a. 1,840, 2,240 The sequence is 5b. 6,833, 6,803 The sequence is
increasing in steps of 400, because 1,040 +  decreasing in steps of 30, because 6,893 -
400 = 1,440. 30 = 6,863.

éa. 3,070. Cian has added 80, not éb. 3,399. Kelly has added 6,000, not 60.

subtracted 80.
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